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0000 TCP_RO.java

import java.net.¥;
import java.io.¥;

public class TCP_RO {
public static void main(String[] argv) {
try {

Socket readSocket = new Socket(argv[0], Integer.parselnt(argv[1]));

InputStream instrm = readSocket.getInputStream();

while(true) {
int ¢ = instrm.read();
if (c==-1) break;
System.out.write(c);

} catch (Exception e) {
e.printStackTrace();
System.exit(1);
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while(true) {
int ¢ = instrm.read();
if (c==-1) break;
System.out.write(c);
}
O0O00OO00O00O0000000b0O0000000o0oO0000oooOo0ooan

byte[] buff = new byte[1024];
while(true) {
int n = instrm.read(buff);
if (n==-1) break;
System.out.write(buff, 0, n);
}
000000000000 000000000000000 1024000000000000 @ InputStream
0000 readQ OO0 O0OO0DOODOOO0O0O0O00O0OOread(byte[]) OO0 OOOOOOOO0O
0000000000000 oo oo 0o oooooooo oo ooog
00 BufferedReader DO 000000000000 O0ODOOOOODOOODOOOOOOOOO
00000000 maind00000000 tryJcatchO OO O OOOODOOOO0OOOOODOOO
0000000000000 0Exception Oo0ooooooooooao
000000000 mOoooo0ooO00o0oOoOoo00o0o0oO0o0b0o00ob0obO0ooOb00ob0oOo0oo0o0oo o
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00 00 TCP_RWjava

import java.net.¥;
import java.io.¥;

public class TCP_RW {
public static void main(String[] argv) {
byte[] buff = new byte[1024];
try {
Socket rwSocket = new Socket(argv[0®], Integer.parseInt(argv[1l]));
InputStream instrm = rwSocket.getInputStream();
OutputStream outstr = rwSocket.getOutputStream();
while(true) { // 00000000000
int n = System.in.read(buff);
if (n==-1) break;
outstr.write(buff, 0, n);

}

while(true) { // 00000000000
int n = instrm.read(buff);
if (n==-1) break;
System.out.write(buff, 0, n);

} catch (Exception e) {
e.printStackTrace();
System.exit(1l);
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java TCP_.RW DO DODODOOO OOODOO

000 8000 HTTPOOOOOOODOOWebO OODOOOCOOOOOODOODOODODOOODOOOOD
gooog

> java TCP_RW 133.92.XXX.XXX 80«

GET /index.html HTTP/1.0«

—~ 00 « 0000000 cCtrl-c OO0 Ctrl-pO
HTTP1.1 200 OK

Date: Mon, XX Xxx 2XXX XX:XX:XX GMT

Server: Apache/X.X
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simpleGet http://133.92.XXX.XXX/index.html
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java simpleChmod 660 ftp://stfile/home/Report/ ...

OAl6Tenso OO0 O0OOOODOODOOOOOOODOOOOOOOODO FTPOUDOD
0000000000 0000 TensoOOO M OOO: Java.io.FileOOO’0 00000000
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00O 00 UdpClient.java

import java.net.*;
import java.io.*;

public class UdpClient {
public static void main(String[] argv) {
try {
// 0000 IpPO0DOOOOODOO
InetAddress addr = InetAddress.getByName(argv[0]);
int port = Integer.parselnt(argv[1]);

// 00000000000 00000O0000O00
DatagramSocket dgSock = new DatagramSocket();
while (true) {
byte buffl[]= new byte[512];
int n = System.in.read(buffl);
// 000o0o0ooao
DatagramPacket pal = new DatagramPacket(buffl, n, addr, port);
dgSock.send(pal); // OO0OOOO
System.out.println("Sent!");

// 000000000000000

byte buff2[] = new byte[512];

DatagramPacket pa2 = new DatagramPacket(buff2, buff2.length);
dgSock.receive(pa2); // OOOOOO
System.out.printf("received: %s", new String(pa2.getData()));

} catch (Exception e) {
e.printStackTrace();
System.exit(1);

oooooad
java UdpClient JOOOOOO OOOOO

obooog
OO0OD000 DatagramSocket 00 D000 0O0OO0O0O0OODOOODOOOOOOODODOOO UDPO
Uo0000bbO0b00D0DD0ODO DatagramPacket U 000000000 O0O00OO0ODOOOODO

DatagramPacket(byte[] data, int len, InetAddress addr, int port)
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0000000000000 000 IenO0000O00O0OOOIPOOOO addrOOOO0O0ODO0O port
0000000000000 000000000000O0O00DO0DODO DatagramSocket 00O OO
send(DatagramPacket) OO0 OO OO OO

DatagramPacket (byte[] data, int len)

0000020000000 00000000DOOO0ODOOOODOOOODOOODOOOOOODOOODOO
0000000000 O0O0O0D0O000 DatagramSocket 00 00O receiveO OO OO0 Oreceive
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00 00 UdpServer.java

import java.net.*;
import java.io.*;

public class UdpServer {
public static void main(String[] argv) {
try {
int port = Integer.parselnt(argv[0]); // O0O0O0OO0O0OOOOO
/J/ 0000o0o00ooooooooooa
DatagramSocket dgSock = new DatagramSocket(port);
while (true) { // 000o000oooooooon
byte buffl[]= new byte[512];
DatagramPacket pal = new DatagramPacket(buffl, buffl.length);
dgSock.receive(pal); // O00O0OOO0O
System.out.println("Received!");
System.out.print(new String(pal.getData()));
System.out.println("addr: %s%n port: %s¥%n'",
pal.getAddress(), pal.getPort());

// 000o0o0ooao
DatagramPacket pa2 =
new DatagramPacket(pal.getData(), pal.getLength(),
pal.getAddress(), pal.getPort());
dgSock.send(pa2);
System.out.println("Sent!");

} catch (Exception e) {
e.printStackTrace();
System.exit(1);
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0000 Javad O O O InputStream 0 0 OO goooodgoo
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while (true) {
if (inputl.available() > 0) {
... // inputlO00O0O0O0OO
} else if (input2.available() > 0) {
... // input20 00000
..

}
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00 00 TCPThread.java

import java.net.*;
import java.io.¥;

public class TCPThread {
public static void main(String[] argv) {
try {
Socket rwSocket = new Socket(argv[®], Integer.parseInt(argv[1]));
InputStream instrm = rwSocket.getInputStream();
OutputStream outstr = rwSocket.getOutputStream();
new Thread(new StreamConnector(System.in, outstr));

Thread input_thread
new Thread(new StreamConnector(instrm, System.out))

Thread output_thread

input_thread.start(); output_thread.start();
} catch (Exception e) {
e.printStackTrace(); System.exit(1l);

OO0O0OO0OO000 StreamConnectorU 0 00O0O0OOOOOOODOOMONOOOStreamConnector
o000 o0ooOoooo0oo0ooooooo oo oo oo ooooooobooooooOoo
godoo0obooooooooooboooboobooooon

0000 TCPThread.javid 0 O O

class StreamConnector implements Runnable {
InputStream src = null;
OutputStream dist = null;
// 0000000 OO00O00o0Oooooooao
public StreamConnector(InputStream in, OutputStream out){
src = in;
dist = out;

}

// 00000 00000000000 o000oooaon
public void run(){

byte[] buff = new byte[1024];

while (true) {

try {
int n = src.read(buff);
if (n > 0)

dist.write(buff, 0, n);

catch(Exception e){
e.printStackTrace(System.err); System.exit(l);
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00 Ad4l1l0000000O0TCPMIOOOODO
00 OO Pphttpd.java

import java.io.*;
import java.net.*;

public class Pphttpd {
public static void main(String args[]){

ServerSocket servsock = null;

try { // 00000000000
servsock = new ServerSocket(Integer.parselnt(args[0]));

} catch (Exception e) {
e.printStackTrace();
System.exit(1l);

while(true){
try {
Socket sock = servsock.accept(); // O0OOO0OO0O
// 0000000000000 0O000O0000C0000O000000O0O0b0O00n0
/00000000000 000000000O00O0O0000O0b00O3

// 000000
System.out.println("Request from
+ (sock.getInetAddress()).getHostName());
/J/ 000000 0000000000M0100000000000000003
BufferedReader in = new BufferedReader(
new InputStreamReader(sock.getInputStream()));
// println 00000000000 PrintStreamJ O 00000
PrintStream out = new PrintStream(sock.getOutputStream());
for(int i=0; i<2; i++) { // OD000O0OOOOOOOCOOOO
in.readLine();
}
out.println("<html>");
out.println("<head><title>Test</title></head>");
out.println("<body>Hello!</body>");
out.println("</html>");
sock.close(); // O0O0OO
} catch (IOException e){
e.printStackTrace();
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OO0OO00OD soso O DOODDOOONetscapéld O URLO http://XXX. XXX. XXX.XXX:8080/
O XXX.XXX.XXX.XXXUOUOUOUOPphttpdU D UOOOOOODDOOOOOOD IPOODODDOODOODOO
OO0 “Hello” ODOOOOODOCO WebDOOOOOOOOOOOODODODO

WindowsXR1 OO OOOOO IPOOOODO ipconfigD OO0 OOODOOOODOOODOOOOIP
goonb 127.0.0.10000000000000Pphttpd0 00 000O0O0OOO0OOOOODOO0O
ggbi1zz.0.0.10000000000

OA420000000000000O0WeDDOOODOOOOODOOOOOODOOOOODOOO
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